


Q. यदि A:B=15:16, B:C=12:5, 

C:D= 4:5, और D:E=7:9 हो, तो 

A:E के बराबर ह।ै

Q. If A:B=15:16, B:C=12:5, 

C:D= 4:5 and D:E=7:9, then 

A:E is equal to: 
(a) 5:7

(b) 7:3

(c) 7:9

(d) 7:5
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Question



(a) 

1/2

(b) 

2/3

(c) 

3/4

(d) 

4/5
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Q. (m2-n2) और (m-n) का तृतीय अनुपाती क्या

ह?ै 

Q. What is the third proportional to (m2-

n2) and (m-n)? (a) 

(m+n)/(m-n)

(b) (m-

n)/(m+n)

(c) (m+n)

(d) (m-n)
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Q. गााँव X में पुरुषों की संख्या और महहलाओं की संख्या का अनुपात क्रमशः 

11: 7 ह।ै यदि गााँव Y में, पुरुषों की संख्या गााँव X में पुरुषों की संख्या से 

20% अहिक ह ैऔर गााँव X की तुलना में महहलाओं की संख्या से 12% 

कम ह,ै तो गााँव Y में पुरुषों और महहलाओं का क्रमशः संबंहित अनुपात 

क्या होगा?

Q. The ratio of number of males and number of females in 

village X is 11: 7 respectively. If in village Y, the number of 

males is 20% more than the number of males in village X 

and the number of females is 12% less than those in village 

X, then what will be the respective ratio of males to females 

in village Y?

(a) 

15:7

(b) 

7:15

(c) 

17:9

Practice 

Question



Q. तीन संख्याओं का योगफल 975 ह।ै यदि पहली संख्या का 

िसूरी संख्या से अनुपात 3:5 ह ैतथा िसूरी संख्या का तीसरी 

संख्या से अनुपात 10:9 ह,ै तो तीसरी संख्या होगी-

Q. The sum of three numbers is 975. If the ratio 

of the first number to the second number is 3:5 

and that of the second number to the third 

number is 10:9, then the third number will be-(a) 351

(b) 391

(c) 361

(d) 381
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Q. एक कार और मोटरसाइदकल के मूल्यो का अनुपात 11:6 

ह।ै यदि कार का मूल्य मोटरसाइदकल के मूल्य से रु. 35,000

अहिक ह,ै तो मोटरसाइदकल का मूल्य होगा –

Q. The ratio of the prices of a car and a 

motorcycle is 11:6. If the cost of the car is Rs 

35,000 more than the cost of the motorcycle, 

then the cost of the motorcycle will be –(a) ₹

42,000

(b) ₹

77,000

(c) ₹

40,000

(d) ₹

51,000
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Q. िो संख्याओं x तथा y के बीच 

अनुपात 18:23 ह ैऔर उनका योग 

820 ह,ै तो x होगा-

Q. The ratio between two 

numbers x and y is 18:23 and 

their sum is 820, then x will be-
(a) 

240

(b) 

360

(c) 

180

(d) 

460
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Q. रहव और उसके हपता की आयु का अनुपात 4:9 ह ैतथा 

उनकी आयु का अंतर 25 वषष ह।ै 10 वषष बाि, रहव और 

उसके हपता की आयु का क्रमशः अनुपात होगा-

Q. The ages of Ravi and his father are in the 

ratio 4 : 9 and the difference between their 

ages is 25 years. After 10 years, the respective 

ratio of the ages of Ravi and his father will be-
(a) 5:9

(b) 9:5

(c) 

6:13

(d) 

6:11
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Q. तीन कक्षाओं में हवद्यार्थषयों की संख्या का अनुपात 3:5:7 ह.ै 

प्रत्येक कक्षा में 24 हवद्याथी बढ़ा दिए जाने पर यह अनुपात 5:7:9 

हो जाता ह.ै प्रारंभ में कुल हवद्यार्थषयों की संख्या क्या थी?  

Q. The ratio of the number of students in three 

classes is 3:5:7. This ratio becomes 5:7:9 when the 

number of students in each class is increased to 24. 

What was the total number of students initially?(a) 

140

(b) 

160

(c) 

180

(d) 

200



Practice 
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Q. 9 और 25 के तृतीय अनुपाती तथा 25 और 81 के 

मध्यानुपाती के गुणनफल का वगषमूल ज्ञात कीहजये. 

Q. Find the square root of the product of 

the third proportion of 9 and 25 and the 

middle proportion of 25 and 81. 
(a) 

25√5

(b) 5√3

(c) 5√5

(d) 

15√3
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Question
Q. तीन संख्याएाँ 3:4:5 के अनुपात में हैं और उनके वगों 

का योग 1800 ह।ै इन संख्याओं में सबसे बडी संख्या 

कौन सी ह?ै 

Q. Three numbers are in the ratio 3:4:5 and 

the sum of their squares is 1800. Which is 

the largest number in these numbers?
(a) 30

(b) 40

(c) 60

(d) 80
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Q. टीना, मोनू और राहुल के माहसक वेतन का अनुपात 

2:3:5 ह.ै यदि राहुल का माहसक वेतन टीना से ₹ 2400 

अहिक ह,ै तो राकेश का वार्षषक वेतन क्या ह?ै 

Q. The monthly salaries of Tina, Monu and 

Rahul are in the ratio 2:3:5. If Rahul's monthly 

salary is ₹ 2400 more than Tina's, then what is 

Rakesh's annual salary? (a) ₹

30,000

(b) ₹

40,000

(c) ₹

48,000

(d) ₹

52,000



Q. एक बैग में, 1 रुपय,े 50 पैसे और 25 पैसे के हसके्क क्रमशः

4:7:5 के अनुपात में हैं। इनकी कुल कीमत 1050 रुपए ह।ै 25 

पैसे के हसक्कों की कुल संख्या ज्ञात कीहजए।

Q. In a bag, there are 1 rupee, 50 paise and 25 

paise coins in the ratio 4:7:5 respectively. Their 

total cost is Rs.1050. Find the total number of 25 

paise coins. (a)

480

(b)

420

(c)

500

(d) 

600
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